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1. Write your roll number in the space provided on the top of this page. 1. 36 7% ¥ 990 S R W @ & o A9 |, e
P.  This paper consists of fifty (50) multiple-choice type of questions. 2. ¥ UE-O § A (50) 98- ﬁm'q TR B I §I
B. At the commencement of examination, the test booklet will be 3. ARA B W AR UA-IRGH & T e 5 fee § o
given to you. In the first 5 minutes, you are requested to open ;gﬁfr % 5 gRaw @t R Y Ru oER omawes w1 & W
the booklet and compulsorily examine it as below : W
(i) To have access to the Test Booklet, tear off the paper seal (i)  we- H U B B QAT g6 F R T IO A A
on the edge of the cover page. Do not accept a booklet 1 o @t §§ ar ’gﬁﬁ kil [
without sticker seal or open booklet.
(i)  Tally the number of pages and number of questions in (i)  ATEReT W gRd g @ gt W Eer sk
the booklet with the information printed on the cover g9t dear & P w7 @1 QW sl /we a@
page. Faulty booklets due to pages/questions missing TR @ S 8w o fedt o= %}mﬂr B
or duplicate or not in serial order or any other W 5 fFme m g‘{a s q E:Ei| q
discrepancy should be got replaced immediately by a TE_ T TP qE A at Ge-gRaem aedl , @
correct booklet from the invigilator within the period of atfafve @@ f=r smomm
5 minutes. Afterwards, neither the Test Booklet will be
replaced nor any extra time will be given.
(iiy  After the verification is over, the Test Booklet Number should (i) FET T B T F9H- T of.uH.TR. U 7 giase &Y
be entered in the OMR Sheet and the OMR Sheet Number AR 7. TH.STR. Tl WA 39 UeA-GRaa T i v
should be entered on this Test Booklet.
4.  Each item has four alternative responses marked as (A), (B), (C) 4. TS U B AR f&4H (A), Sﬁ% (C) alR (D) ¥ Ut wedie HeF & fow
and (D). You have to darken the circle as indicated below on the T TR | 79 Ry T B
correct response against each item. EECT
Example : o F® . ® @
where (C) is the correct response. T (C) T ST B
5. Your responses to the questions are to be indicated in the OMR 5. 9T U & X 36 PR & A W g8 o L. IR § fin 9
Sheet kept inside this Booklet. If you mark at any place other fee| afE oy et & STl Fel o= FYA E AT NS, uiEH
that in the circles, the OMR Sheet will not be evaluated. H IR S
b. Read the instructions given in OMR Sheet carefully. Fill the 6. oN.TA.SR. ubw W Ry o RN @ e & 13 RN, ahE §
Booklet Code of Paper-l in OMR Sheet Compulsorily. AEET & q A1 = FZ g
7. Rough Work is to be done in the end of this booklet. 7. e B (Rough Work%%ﬂ F AR T W H
B.  If you write your name or put any mark on any part of the OMR 8. It oy wefyq wfaftedt & Y fog TQ ®&M & SAfaiE of.TH.9TR. S
Answer Sheet, except for the space provided for the relevant U F RGN AT W ST A ferEd ¥ a1 i e e, S aﬂ‘ﬂﬁ REG
entries, which may disclose your identity, you will render yourself EﬁﬁﬁT B, @ T A A R B B o ema w= TRET B
liable to disqualification.
B.  You have to return the OMR answer Sheet to the invigilators at the 9. TiEN TG BN UX ST . TH.AMN. Ia T Teh B e erf ofix
end of the examination compulsorily and must NOT carry it with ST IY ST Y GO I § qBY T A S FHA|
you outside the Examination Hall.
10. You can take away test booklet and carbon copy of OMR Answer 10, ST9 TET B A Fee- YR oY SN .TH.TX. IO T A w9 oI
Sheet after the examination. T S TR B
11.  Use only Blue/Black Ball point pen. 1. q@ ARA/HA ST GEE TT_H 4T B
12.  Use of any calculator, electronic gadgets or log table, etc. is 12. ﬁﬂ'ﬁl PEYAR, WIS TNe q AN 5w, Al ;g
prohibited. I
13. There is no negative mark for incorrect answer. 13. T@d SO % R'T'l #fF TE_Fe g .
14. In case of any discrepancy found in the Hindi translation of 14. 9F- gﬁiﬁ'ﬂ \‘Hﬂﬂﬁ F frft ft yer # Ry o Sw
a test booklet the question in English version shall be taken W 9 e & w0 /] ARG W
as final.
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1. Which of the following statements are true
with special reference to memory level of
teaching?

1. Teaching is related to subject.

2. Teaching-Learning process is
basically Response-Stimulus.

3. Herbart is the main proponent of
memory level.

4, It is the thoughtful level of teaching.

(A) 1and 2
(B) 1and 3
© 1,2and 3
(D) 1,2and 4
2. Which one of the following is not ‘Nature of
Teaching'?

(A) Teaching is a process of
development and learning.

(B) Teaching causes a change in
behaviour.

(@] Teaching is an art of behaviour.

D) Teaching is face-to-face encounter.
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3. Given below are two Statements : TR R E
Statement 1 : Maximum performance tests
are designed to assess the upper limits of R 1 : AR et e, aenar
the examinee’s knowledge and abilities. F W AR gHAT B HUO W w:
AT B & T & TR 6y S
Statement IT : Typical response tests are |
designed to measure the behaviour and
characteristics of examinees.
o 11 : faferee ufdichan ammenia aderT,
In light of the above statements, choose the Tl & EEer X gﬂﬁ P A
most appropriate answer from the option FE P T 9 R BT S B
given below :
(A).  Both Statement I and Statement II (A) TN 1A FF A 98
are correct.
(B).  Both Statement I and Statement IT B)  FF A o 113 T 8
are incorrect.
(C).  Statementlis correctand Statement C  FF TS ¥ R Fu 1179 8
1T is incorrect.
(D).  Statement I is incorrect but (0) & [ & Sl e 11 6@l
Statement 11 is correct. 2
4. Which one of the following is the main fFefeifad & 9 r &1 e SECRE]
objective of teaching? F-91 37
(&) To give proper information about (A)  UITRA Td uegad & 9} A
syllabus and curriculum 3T TR 3 T
(B)  To develop critical and creative (B)  BE & TS X TS
thinking of students. Qe o s
(C)  To dictate notes and materials to (C)  BE & AcH IR WrEl FRRE
students. HT
(D)  To prepare students to pass the (D)  BET H YT S A ]
examination and get degree. fel o F & [T R S
00-W Paper-1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

i

GET IT ON
Google Play

Total Number of Pages : 24

5. Which one is not a characteristic of good T q D oD Rk v &
teacher? 7
(A) A good teacher should be able to (A) T 3T R @fﬁ@ﬂ'{ﬁﬂqﬂﬁ
explain content T qew T Ay
B) A good teacher should be able to (B) T o7 R B BH A ;ﬁ?{{:[
provide notes to the students 39§ |gH BT Aifeq
(C) A good teacher should be able to C) U o= R P WG H AR
provide learning environments TE H H HeH B el
D) A good teacher should be able to (D) T T R A Eﬁ?ﬂ—%‘j@[
provide skill-oriented teaching RIET 39 § WM S Ay
6. Formulation of hypothesis may not be Frefofeg & 9 s aReeamr-fmror
required in which of the following? P AEATHA TEl B Tl &7
() Survey Method A T TS
B) Philosophical Studies (B) RIS I
©) Experimental Studies € U ST
() Clinical Studies O TEt (Fiwq) o
7. Suppose the Government wants to assess HIeT oY % EXhX BY Ure 91 & 918
status of implementation of educational Rrr A & FEiEs @ Rafg S
policy after every 05 years. Which of the e B - 39 Uiohd § g ST
following will be the method of research qeil AgEE Tsl Feioied ® @
used in this process ? H-G a7
(A)  Philosophical Study A TR T
(B)  Cross-sectional Study (B)  AUHER B FFARNT FHIT
(C)  Survey Method C)  wawer TR
(D)  Experimental Method O)  JErTcT iy
00-W Paper-1
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8. Which of the following is not characteristic 8. fr=fofeg & ¥ PA-a1 ST &
of Research Design? F A T 27
(A)  Subjectivity A
(B) Verifiability (B) G
(C)  Regularity ©  Frafar
(D)  Predictability O @A
9. Which one is not a criteria of a good 9. HE-T1 T TS -G H qeS
research problem? T B
(A)  Interesting @ R
(B) Innovation (B) NEICIE
C)  Time lineless C I @A
(D)  Relevance D) SR
10.  Which of the following is not correctly 10,  F=fiRad § & P=-a1 &1 o el
matched? Y,
List-I List-1T . -1l
(Perspective) (Disciplinary Roots) Fﬁh_ (eﬂamq:rﬁzﬁ
(ufere) =)
(A) Ethnomethodology  Ideologies A) ;l_q;'ﬂ ey Ryareen]
i, Humanistic (B)  ergEm LIRERIGIE]
(B) Heuristics Psychology ( f ; ) R
(C) Phenomenology Philosophy (C) g1 fas ™ e
(D) Hermeneutics E:ti:;z;phy iterary (D) amem fasm @ aifele®
(fgfem) ol
00-W 6 Paper-1
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Read the following passage carefully and

answer the question numbers 11 to 15 :

Ecosystems provide people with a variety
of goods and services, food, clean water,
clean air, flood control, soil stabilization,
pollination, climate regulation, spiritual
fulfilment and aesthetic enjoyment, to name
just a few. Most of these benefits are either
irreplaceable or the technology necessary
to replace them is prohibitively expensive.
For example, potable freshwater can be
provided by desalinating sea water, but only
at great cost. The rapidly expanding human
population has greatly modified the earth’s
ecosystem to meet their increased
requirements of some of the goods and
services, particularly food, freshwater,
timber, fibre and fuel. These modifications
have contributed substantially to human well-
being and economic development. The
benefits have not been equally distributed.
Some people have actually been harmed
by these changes. Moreover, short-term
increases in some ecosystems’ goods and
services have come at the cost of long-term
degradation of others. For example, efforts
to increase the production of food and fibre
have decreased the ability of some

ecosystems to provide clean water, regulate
flooding and support biodiversity.
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5t 3% T & T oTasgs S
FroeTe ©9 | 7 31 IR & oI,
P S & Aaviigd B G A

TSN FT SUTE BT S T ©,
QAT Fad IS AN G S et
TME A A B aegell oY Jared,
Oy & § oM, aen O, @,
E2EE e -G G 1 S | GRR BT |
B QW FRA b T g & aRRafn
T B F &S qF | A Bl g
MR A AT BT AN e o
T qeay AN AT B AW @6 &
& faaia =&t Bear T 81 3 aRaeH |
qrdE ¥ B A H TR g B
TS AT, FP ARRGREH OB
TRt oI Fawel § ofEics g
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frafa F o Saffguar & awF
F P GHA B FH B A B

00-W

Paper-1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

e
: Total Number of Pages : 24
Gl
1. Expanding human population has an 1. gl "M SHHEA & Sidge 49E
adverse effect on : Yedl g
1. Spiritual fulfilment 1. i fd W
2. Availability of potable freshwater 2, 99 IR a9 @ SUdd
BLS
3. Employment
3. UFIR T
4, Biodiversity
4, SEfafaE |
Which of the statements given above are
correct? W RU T Fo+ 7§ § P-4 T8 &7
A  1,2and 3 A 1,283
B 23 and4 B 2,33 4
C 2and4 © 2 A4
D) 1,2, 3and4 D) 1,233 4
12.  The passage mentions that ‘some people 12. UR=T ¥ Scg fhar T 8 % ‘a9
have actually been harmed by these URecHl | aredd B ANl H Jher
changes’. It indicates towards : gal ' g% a0 @ ¢
)] Inequitable distribution of benefits. (] A H T fFa=om
()  Decrease in the ability of some ) @B T W”E A, q6 B
ecosystems to provide clean water, frafa @ @R Safafaya &
regulate flooding and support U & & [T 58 TR
biodiversity. A @ A §
(A)  Only (I) is correct A Fad () T B
(B)  Only (Il) is correct (B)  @ad () 98 B
(C)  Both (A) and (B) are correct € @t (A R (B) WA &
(D) Neither (A) nor (B) is correct D TAAIMTAEB TEE

00-W 8 Paper-1
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13 Which of the following is correct in the ~ 13. W&l & Haw # fifarad § & P-4
context of the passage? T 27
W e e
B AN I S S 98l
people.
(B) Sufficient efforts have not been (B) o &R EIECEEEIRT CERCTAE |
made to increase the production of & fore vai e @ fpw o E
food and fibre. o o .
(@] In short term, some people may be © g&ﬁ i rﬂ A et
harmed, but in long term, everyone o 7 ¥ il W
will benefit from modifications in A T3, W defe F,
earth’s ecosystem. 0 T B T S
(D)  None of the above O SR A g PR Tl
14. Wit reference to the passage, considerthe ~ 14. &y & Hed ¥ f=ifafad &M W
following statements: R #if -
(1) ltis imperative to modify the earth's (1) A9 S H AR B e g
ecosystem for the well-being of ® Ui dF w0 gt
mankind. FEN e B
20 Technology can never replace all @  JdERE F @ aRRefaE
the goods and services provided AR e 2 O G| S 1
by ecosystems. AR ?R@'Gﬁ &I T o Tl
Which of the following statements given FW BT T FwE F § BE-T FH
above is/ are correct? e B /87
() Only (1) (A Fad (1)
(B)  Only(2) B @ (2)
(C)  Both(1)and (2) © A (1) (2)
(D) Neither (1) nor (2) (D) T ()T &Q
15.  According to the passage, which of the 15, TSI & STJAR F=atad & & HiA-81
following can be taken as the main reason gl & GRRARER O & G @\
for modification of earth’'s ecosystem? A IO AT ST DT &7
() Technology @ JrenfE
(B) Increasing population (B) EENIASEIE|
(C)  Lack of an integrated approach (C)  THipd SRR B HAAG
(D) Al of the above O) SWE a4
00-W Paper-1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

i

GET IT ON
Google Play

Total Number of Pages : 24

16. A fixed and categorized impression of a ~ 16. U & qa-FEiRg TE & AR W
group of people based on a predetermined AT & e W T MREd iR aigd
set of qualities is called : IO Y HaT Il
(A) Generalizing (A HHEFHET
(B)  Consistency B)  Rerar
©) Stereotyping €  wiedsd
(D)  Over-simplification O)  SHERET
17. In analogue mass communication, stories ~ 17.  STJ&J (Qﬂﬁﬁ'ﬂ) SEER #§ Fel §
are
(A) TR
(A) Static
(B) Dynamic ©) T
(©) Interactive (C)  TRE HemEr (3eXfe)
(D) Exploratory 0 e
18.  Which of the following statements is not 18, F=faRad § 9 P9-91 F99 Gal Tl
correct? 7
(A) A good communicator cannot be a (A  Th T8 HaNH Th 78 s
good teacher. T & g
(B) A good communicator has good (B) Teh 3T T g@gﬁf Pl U
sense of humour. & B
(@) A good communicator has wide ©) T 3T HARD B T6 i &l
reading. % Bl 8
O) A good communicator has D) T 3T TR AW W SUER
command over language aar &
00-W 10 Paper-1
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19.  Four conditions influence the effectiveness 19, =X RfAl ued w=p2e €39 AN
of an encoded message, such as the skills, ST % ST Yl &, S ST,
attitudes, knowledge of the sender and gfteepIoT, % H ax |
(A) Social-cultural system ® Bk st
(B) Knowledge of the receiver ®) ST S
(©)  Age of the sender € U W g
(D)  Environmental issues O e g

20. The ability to communicate effectively : 20. g9El 1 § GaAK A B OFEA
(A)  depends on the education level @ Rer 'R W AR o @

(B) s a natural talent that cannot be (B) U Uphis Ui © R @
learned TE S Hepdl

(9] always depends upon the use of © TR DrENfe & ITERT W R
technology HAT &

(D)  can be learned () IO | <

21.  Match List-l with List-Il in the context of com- 21 HYX AcgihT & ded ﬁ%ﬁq Gl

puter networking ﬁ?ﬁ‘” q gﬁﬁlﬁ it
- . -1 -1
P) VO|FI>StI 1. |Makes ui'ztﬂnght (B) (A1 T o 1 |1. |1 HaRa H % few
pulses to transmit ST TRT H I
data HT &
O opte 2 e e e | [ e [o [ i 373 & fee
(R) |URL 3. |Most aipropriate to i W ST
connect computers in R [g e oa |3 [fed o1 fieeT &
a small building HYT FaE HE b T
(S) |UTP cable |4.|Textused by web IE 999 SUgTh 2
browsers to locate a
web address on the (S) |7 & @ w4 |fHEl a9 Td H qar
Internet TN $ T a9 SeeK
R I e S
Choose the correct option: EIS I S G o
P Q@ R S e ey &1 =g i
A) 4 1 2 3 P Q R S
NI
€ 2 3 4 1 (C) 2 3 4 1
(D) 4 3 2 1 (D) 4 3 2 1
00-W 11 Paper-1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

e
: Total Number of Pages : 24
Gl
22. Which social welfare scheme was launched 22, o & @ @ E\lgfﬂﬂ“T % T BF-8
for children’s health and malnutrition? ISR HeAT Aol J& B BY
A MIS (A) T S TH
()  BPEL ® #Shdum
(C)  IcDS C oEHaT
(D)  PHC O WuFH
23.  Whichofthe following is a Premierdatabase ~ 23.  fy=ififad & & Hi9-91 9Rd & @O
of profiles of Scientists, Researchers and et & HERG Jsnivien), Serbdiet ik
other faculty members working at leading T T Tedl & MwE & T TG
institutions of India? e &7
(A) VIDWAN ®  fEEE
()  E-ACHARYA B) EFomEd
C) E-KALPA C &
O  AVIEW 0 g
24.  What are the major standards for video  24.  ISHHH Hedeh UX AN HISHET & g
conferencing over IP networks? 9 |5 40 7
(A) Internet Engineering Task Force (A) S CHERIIREIY ‘EIEEB tbjﬁ
(IETF) Session Initiation Protocol (oTEITR) S M
(SIP) (wemd)

B) o &g - A . 323 M
© o & g - & T 320 MBI
O o3 3 & Up uH oA

(D)  Both IETF SIP and ITU-T H.323 (ETFSIP) SR e & g - d @&
protocol 323 (ITU - TH.323) Merdid

(B) ITU-T H.323 protocol

(@] ITU-T H.320 protocol

00-W 12 Paper-1
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25.  Whatis the maximumefficiency of pure aloha 25, G=1/2 W & Tcliel &l SAHaH &l
at G = 1/2? T 87
(A) 189 (A 1.89
(B) 134 (B) 184
© 18999 © 18999
O  17.99 O  17.99
26. Fill the missing sequence code : 26. Ja SAgseH e AR :
CMM, EOO, GQQ,—_, KUU CMM, EOO, GQQ, -———--_, KUU
A 1S A 1SS
B  GSS (B)  GSS
©  GRR € GRR
(O  ETT O)  ETT
27.  Two trains leave from Mumbai to Delhiat 6  27. & 3« g8 6 &1 3R 6:45 &1 Yoz 4
am and 6:45 am and travel at speed of 100 el @ fIT @ & € X HHa 100
kmph and 136 kmph respectively. How it ufoee ofi 136 fe ofgy € &
many kilometres from Delhi will the trains ey | A R R d e
be together? frciieT X 2+ T | ell?
A 2624 A 2624
(B) 260 (B) 260
© 25 © 275
(D) 283.33 (D) 283.33
00-W 13 Paper-1
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28. Solve - 8. T PR :
21—1g 21_1g
1 1
2—-—— -
1 1
6—— 6——
6 6
A 2 A 2
| 4 |) 4
© 8 C 8
b 6 DO 6
29.  The MRP of article is 50% above its 29 %] & THGTRY Ieahl Ffwor AT &
manufacturing cost. The article is sold 50% aifer B g T GaU fosa
through a retailer, who earns 20% profit on et & St et %’ T A T ™
20% I Yav fefsheT,
his purchase price. The retailer gives 10% w o S 8
; w— | i THARY T 10% H & @ 31 IH
iscount on . What is the approx. profit
- i fefar & fow, st oo qEE gEl
percentage for the manufacturer who sells By 0 S B e emd e
his article to the retailer? 7 &7
A 152% A 152%
(B)  142% B)  142%
© 13.1 % © 13.1%
D) 125 % D) 125 %
00-W 14 Paper-1
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30. A dealer purchased a washing machine for ~ 30. U S/AX 7 7660 T & Ueh (T A
Rs. 7660. He allows a discount of 12% on GUEl T8 36 JAiehd Tod W 12%
its marked price and still gains 10%. Find BT A & AR T o 10% F AW o
the marked price of the machine. FH 81 A0 1 AR e S bl
(A) Rs. 9575 (A) %.9575
(B) Rs. 9065 (B) %.9065
© Rs. 9465 (@) ©. 9465
(D) Rs. 9335 (D) 5. 9335
31. Statement : Cases of food poisoning due 31 rF : Efior A ¥ SRS B T A
to consumption of liquor are increasing in T AYRhaT 3 IS 9¢ ®© 2
rural areas.
Assumptions: '
I.  Percentage of people consuming l S B HET B A AW A
liquor is more in rural areas. I 35"5‘;i 7 s 2
. There are many unauthorized I ST Sk 7 S ST bl
spurious liquor shops in the rural I H gﬂﬁ 2
areas.
A)  Fad gRem | R @
(A) Only assumption | is implicit
o (B) @A o Il FfeT B
(B) Only assumption Il is implicit
(@] Either | or Il is implicit ©) NI R B
(D)  Both I and Il are implicit D) 18R Il 31 ofaffea &
00-W 15 Paper-1
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32. In the New Year’s party 500 were invited. 200 32, 9T @@ @l 9I¢t ¥ 500 QRN & RN
people opted for Indian food, 150 eaten Italian T T 200 AN ARG e T,
food and 100 people taken continental food. 150 AN 7 ZeIferEe Ao @ET &K 100
14 people have taken both Indian and Italian A | Fifreted wioe fo@n 14 @t =
food, 10 people have taken both Italian and qRAE SR garfeds amt @, 10 At
continental food and 15 people have eaten I zarfEd &R Fifeeded aMr AR 15
both Indian and continental food. 6 people AN A AR Hfrested AR @M
have taken all three kind of food. Find, how 6 QRN = ANl e B @HT @A Fd
many people have only Italian food. FifoTT foh fohe™ AT At SeTioras Ao
g
A) 150
A) 150
B 120
B 120
© 101 ©) 101
33.  “Hetvabhasas” in Indian logic refers : 33,  9NAE JuE ¥ ‘“DaEE”’ B ddd
E
(A) Semantics
A =
(B) Tautology
(B)  gehn (dHeriron)
(€ Fallacy
€
(D) Contradiction 0) Rt
34. Nyaya theory of error is known as : 34, _@ﬁ & I RIEid B Fe o ©
(A) Viparit-khyati A) EREE ]
(B) Anyata-khyati (B) STA-EAT
€  Akhyati € e
(D)  Anirvacaniya-khyati O)  AEEEE-E
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35. Number 3 is prime number, so are numbers  35. &A1 3 Y & %, 3 & Hen 5
5 & 7. Therefore, all numbers are prime AR 7 o & zaloe |aeft HEt oy
numbers. Which fallacy is committed in the T ¥ SUWRE % § P-4 Ay
above argument? T T 7
(A)  Hasty generalization A STEdsH § R
(B) Irrelevant conclusion (B) IR SRy
(C)  Missing the point € T TS 2
(D)  Slippery slope O) EE 90 eaN

36.  The following table gives the percentage 36. f=ifaifad difererl T @1 $ STUR
distribution of population of five states, P, T AR R & oMeR W g 991, P Q
Q, R, Sand T on the basis of poverty line . ﬁ’ "
and also on the basis of sex. Study the table R, S ST T ot SFeeAT o st
and answer the questions based on it. TN B o & eremEs @R @R

3% MR W U & I AR -
Proportion of Mal d Femall
State P::Jr;:gig;efgw Belowrsz:e: nL(ijne ae:bj\]/e Pir::nesLine R 3 w (M) it sfeel (F) kil
Poverty Line e PE | o | e e @ AR | e e @ ow
1 s (M:F) (M:F)
P 35 5:6 6:7 o : :
Q 25 3:5 4:5 i o 5:6 6:7
R 24 1:2 2:3 9 o & ° 4:5
S 19 3:2 4:3 R S 1:2 2:3
T 15 5:3 3:2 S 3:2 4:3
T 15 5:3 3:2
If the male population above poverty line
for state R is 1.9 million, then the total R T4 R & foC T e & S
population of the state R is: g&y Seern 1.9 fifes 8, @ T R
Edl SHEET
(A) 4.50 million ¥
(A) 450 FfEs
B 4.85 million
® (B)  4.85 ffea
© 5.35 million C) 5.35 faferas
(D)  6.25 million D)  6.25 Mfas
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37. A design that unfolds in the course of a et FRAX 7Y fesTg o & S
qualitative study as the researcher makes o AT % AR G ST ©
ongoing design is :

A e feemE
(A) Experimental design
o : B)  AT-TAEH e
(B) Quasi-experimental design
€ Exploratory design ©) dl lIi SRy
(D)  Emergent design (D) ST gam feomee
38.  Which of the following method can be used TEH 2 H ETHRT 7 B9 W
when there is no need for accurate data? Frefaiaa 3 9 69 & &1 S9aT e
ST T &7
(A) Data collected from the NSSO
database (A) OT TH TH o STed § S
Th fha T
(B) Information gathered through (B) ST 3 T @ e T
investigation H T|-5$
(C)  Personal interview (C) AT HRIeh
D) MY JAFERA § S T
D) Data collected from local informants Rl T

39.  Which of the following is not characteristics Ffofad § 9 $9 [QAar a1 F9K
or consequence of weak data governance? 2T USTE &1 IRy =&} 27
(A) Data duplication causes isolated A 2 IAE YD AZA BB

silos ST ®
(B)  Users do not trust the data & waste (B)  IUENTEHA a1 @ gf% ¥ 29
time in verifying the data. AR 999 9491 T8 F &
(C) Increased  workloads  and C)  HEUR AR JEEHT |51
processing
(D) I T At ST Sl e
(D) Prohibitive cost of high-quality data NG
00-W 18 Paper-1
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40. Best practices for effective data governance  40. T 22T ST % [T warH fatEt
include all of the following EXCEPT : # fy=ifoiad & Bl a4t A 2 ¢
(A)  Building strong relationship between (A)  FIEE A AR F S Ao
business and IT Y I T
(B) Combining the use of top-down and (B) IW § T iR 9 § FW
bottom-up approaches afeeRoT & ITNT B FASH
(9] By addressing organizational © RIS Y & G qaest &
problems from the start TN D
(D) Providing incentives for complying (D) 2T U I B SINCISK ®
with data governance rules. T Oime IR e
41, In which year The World Commission on 41, {359 Uga=er Ud faepre STERT (WCED) 3
Environment and Development (WCED) “EART G Aiosg” oide ¥ Rad
published a report entitled “ Our Common P a9 # SR @Y
Future™?
e (A) 1995
(A) 1995
B 1992
(B) 1992 ®)
©) 1987 © 1987
(D) 1983 (D) 1983
42. Which of the following is the Millennium  42.  =ififaa & § 39 TeEns fEw
Development Goal/Goals ? TN q T R7
()} Develop a global partnership () T dRas gEer [eid s
(D} Eradicate extreme poverty ) TANE TS B e
(I C'ombatHIV/AIDS, Malariaand other () T /TS, TR A o
diseases SRS e
(V) Ensure sustainable environment v R T ﬁﬁ%ﬂ T
Select the correct answer from the codes
given below : e R S § W I P
A (), (Il and (V) (A) (0, () & (V)
B) (1), (I1y, () and (IV) (B) (1), (), () AT (V)
(C) (), (l) and (IV) () (), () 3T (V)
(D) (1), (I and (IV) ©) (), (ST (v)
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43.  Given below are two statements, one  43. =9 & &N 3T T ¥ : U TR
labelled as Assertion (a) and the other (a) AR W & T (1) el T 2l Sl
labelled as Reason (r). Read the statements I B el oiR T i ¢ g &
and choose the correct answer from the et SERESICAA ﬂﬁﬂl :
code given below:

ARTEHT (a) : ST B ST JPiies AT
Assertion (a): Forest fires are caused by AMAMET N A & BT at
both Natural and Manmade activities. 2l
Reason (r): The majority of forest fires are T (1) : AR HRT JHIH T &
caused due to natural phenomenon. FX AR B
(A).  Both (a) and (r) are true and (r) is (A) (a) 3R ) A g8 ¥ &R (n,(a)
correct explanation of (a) N T& T B
(B).  Both (a) and (r) are true and (r) is (B) (a) S () A=t |& & 3R (1), (a)
not correct explanation of (a) H T e T B
(C).  (a)is true, but (r) is false ©  (a) W& B, qH (1) W TE &
D)  (a)is false, but (1) is true D) (a) W& TEE, A (1) W B

4. The concept of sustainable development 44,  Had fadm @ SfaERen ¥ i @ ¢

include : )
(A) SIS Yol @ G & e |
(A)  Human/societal welfare through the HIMG &0 FHIST e
protection of natural capital
(B) AT SR TRl Wl s F GER
(B)  Improve the wellbeing of the people BT
and communities
C) TS % dHs E AR
(C)  To conduct economic activities to i YT & ST Hfer ab-{%r b
promote and preserve long term R el il &1 s
economic wellbeing of society &l
(D) Al are correct O §REdE
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45, Match List-l and List-Il and_ selectthe correct 45, ﬁ%ﬁq ax ﬁ%’ﬁ-u H e HivT 9k
answer from the codes given below : 9 Ru T e § 98 oW ﬂﬁ"\’ .
List- List-I -1 -1
(Terms) (Meaning) (Qﬁ) (GT?f)
") Wigaion | [meditly bofore an () e (1) |39 & g e <T
’ afteradisa);ter Tﬁ?F{UT A T g
(Q) |Hazard (2) INatural and man-made (Q | (2) W‘W AR 7 i
event that has potential to ge o Siiaw & '
cause loss of life M F 9T B
TP e ek otte | [ [or [ [ o a5 e
and property B B B AT T B
(S) |Response [(4) |An event natural or 2RI
e o | [ET [ [ g o e
property gedT o Sfiaq AR gufy
H JHAH TgA &
Codes: T :
P Q R S P Q R S
(A) 3 2 4 1 (A 3 2 4 1
| 4 1 2 3 B) 4 1 2 3
G 1 3 2 4 Cc 1 3 2 4
(D) 4 3 2 1 D) 4 3 2 1
46.  Which of the following are not advantages ~ 46.  Fifdiad & & HF-91 98 TN W G
0f MOOC? TS TIGFEhA (MOOC) 3T A et &7
(A) Reaching more target audience (A) ot T SRf % Ugdl
B) Providing a uniform learning (B) st G ikiice ol ATHT M
experience Al
(C)  Allowing customized scheduling (0  AGHT AT N & SAFA
(D) Increasing training costs (D) TR Tl Hind (?*lFﬁ)
47.  Whowasthe Chairman of Calcutta University ~ 47.  shetehal [Aeaidencid T ST & ofes
Education Commission? B A?
(A) John Sargent A ¥ "l
(B) Joseph Hartog (B) SE® BIeNT
(©)  Michel Sadler © 9T J=sW
(D)  Thomas Macaulay O)  oIFE A
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48.  The University Grants Commission came ~ 48.  fasaidieiicry S1gar START 1953 b Seaxal
into existence in 1953 for the purpose of : % U oRaa ® emr?
1. Coordination of higher education 1. 3= O 1 gH=g
2. Determination and maintenance of 2. A 7 MO oY T @|
standards .
3. IJEYN H el
3. Promotion of research
_ , _ 4,  AEEAE RUET H FewEr I
4, Promotion of vocational education
gq'gzﬁ ¥ _ ?
Which of the above is correct? A A A
&) 1only (R FA
(B)  1and4only (B) @A 137X 4
(C)  1and2only C)  FaF 18 2
(D)  1,2and 3 only (D) Fad 1,23X 3
49.  Which unconventional learning programme 49, WG ¥ BN 9 YR {097 HRRH
in India aims to provide opportunities for F Bg%{aq o 51 ° S B QuE
children in rural areas to engage in ROrr $ a-gY SErR w8 w1 B
productive work along with academic TIGT Y& HIT 37
learning?
° (A)  Geh fasafaErd gomed
(A) Open University System
(B) Montessori Education (B) UL
© National Child Labour Project (C) WA AW A gRA ST
(NCLP) (wrrelierd)
(D) National Rural Education Mission D) Tserg gretor faren fyerE
(NREM) (TTTRETA)
50.  As per NEP-2020 recommendations, “The 50,  wg|1-2020 @l fHEIRRel & HIE,
Anusandhan National Research Foundation “aqg’{:i’ﬂ'ﬁ TS MY BeeyH fauges”
Bill” was passed by Parliament of India in IR Pl 99 g7 769 av § qiiRa fan
which year? T[T r?
(A) 2020 (A) 2020
(B) 2021 (B) 2021
© 2022 © 2022
(D) 2023 (D) 2023
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